
 

 

 

 

 

 

cg';"lr – &  

 

s]Gb|df dfuug]{ of]hgfx?sf] ljj/0f 

cf=j= @)&$÷)&%  

qm=;+= j8f g++  of]hgf÷sfo{qmdsf] gfd / 7]ufgf  
 

 
1 j*f g+= 1 

d'lStgfy k'/fª /fgLkf}jf jhf/df 9n 

Joj:yfkg sfo{  
    

2 j*f g+= 1 /fgLkf}jfdf c:ktfn lgdf{0f      

3 j*f g+= 3 r}n]af6 Wofs/ ;Ddsf] df]6/jf6f] lgdf{0f      

4 j*f g+= 3 t]tfª xf l;+rfO of]hgf      

5 j*f g+= 3 
t]tfª df]lxnf x'+b} d'lQmgfy ;Ddsf] df]6/af6f] 

lgdf{0f ug]{  
    

6 j*f g+= 3 t]tfªufp+df y|Lkm]h nfOg lj:tf/ of]hgf      

7 j*f g+= 3 
5';fªsf] d':tfªu]6 b]lv 5';fª ufp+sf] 

k'5f/;Dd sfnL u08sL gbL lgoGq0fsf nflu 

t6jGwg  

    

8 j*f g+= 3 
tfªj] ufp+sf] sRrfªsf] eL/jf6 plee|f ;Dd 

sfnL u08sL gbL lgoGq0f tyf t6jGwg  
    

9 j*f g+= 4 
sfuj]gL wd{zfnf b]lv 5';fª hfg] jf6f] ;Dd 

sfuvf]nfsf] uf=kf= sfof{no tkm{sf] lsgf/df 

cf/= l;=l;= t6jGwg  

    

10 j*f g+= 4 
sfuj]gL b]lv vn'ª ;Dd sfnL u08sL gbL 

lgoGq0f tyf t6jGwg  
    

11 j*f g+= 4 
PSn] e6[L ufp+ ;+/If0fsf nflu sfnL u08sL 

gbL lgoGq0f tyf t6jGwg  
    

12 j*f g+= 5 ;fªtf ufp+df ljB'tLs/0f of]hgf      

13 j*f g+=  
n'k|f,Wofs/,tfªj],k'6fs,l;+ufdf 6]lnkmf]gsf] 

6fj/ /fVg] .  
    

14 j*f g+= 5 ;fªtf 3f]s emf]n'ªu] k'n lgdf{0f ug]{      

15 j*f g+= 4 
jfx|ufp+ d'lQmIf]q ufp+kflnsf If]qdf ;fd'bflos 

sf]N8 :6f]/ lgdf{0f ug]{ 
    



 

 


